Molar Heat of Fusion of Ice — Sample Worksheet

Data:
| Mass of cup 550 g

lMass of cup plus warm water 155.50 ¢

9 Initial temperature of “warm” water 305 °C

Qf Initial temperature of ice 0.0 °C

% Final temperature of the “mixture” 185 °C

Cq Mass of cup plus “mixture” 17550 g
Results:

/ Mass warm water 15000g = 1 |

8 Mass ice 2000 g é -2

?Temperature change of “warm” body 12.0 °C } -5
{ OTempera’wlre change of “cool” body 185 °C 5 ”’K’?
I / Heat energy lost by “warm” body 752:H T —>  (sp.ht)(mass)(AT)
(4.18 J/g°C )(150.00 g)(12.0°C)
7

/) Heat energy gained by “cool” body 7524 J

[ 9 Heat of fusion per gram of ice 299 J/g —> See steps 1 — 5 Below

l \{ Heat of fusion per mole of ice 5380 J/mole —> (299 J/g)( 18.0¢g )
(Molar Heat of Fusion) 1 mole
Steps:
1. 75201 =H (mslt ice) E H (inc‘r(e%se tené;pera ¢ of cool body)
2. 7520 J = (AHgsion © mass) + (sp.ht.  mass o )
3. 7520 J = (AHpusion © 20.00 g) + (4.18 J/g°C = 20.00g ° 18.5 °C)
4, 7520 = (AHgysion ©20.00 g) + 15507
5. 5970J = AHpsion ©20.00 g —>  5970J = AHpg,, —> 299 J/g

20.00 g



